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Maths IB; HL Subjects : Complex numbers #2...
Total : /18 Name: &nna

Question 1 [5 marks]

In the following Argand diagram the point A represents the complex number —1 + 41 and
the point B represents the complex number -3 + 0i. The shape of ABCD is a square.
i) Determine the complex numbers represented by the points C and D.
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za=—14+43 A

ZB:*3+OZ‘
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ii) What complex number zo represent the center of the square ?

iii) What is the product (z4 — 20) - (24 — 20) - (z4a — 20) - (zp — 2z0) ?

i) E:(*{f)f(;l):(j) doncﬁ):<j2> Sop=3+2 et zo=1-2i

i) zo—i

iil) za-2p-20-2p =(1+1—4i) (1 +3)(1 —3—24) (1 — 1 + 21)
— (1=3))(3+)(=3—i)(—1+30)
— (6 —84)(6 — 8i)
— (100 — 967)= 8(25 — 12i)

Question 2 [5 marks]

) I . . T T .. T
Consider the complex numbers z, = COSE+ISIHE and z, = cosg+1smg.

(@) () Find i:Cis(%) = cis( at—2r ) = cis(%) = ciS(%) :COS(%) 7isin(3%> —| 2 +£

12

. - cis(5) . ((2—1)x . 37 )
(i) Find 2= 1?7() :CIS(( 2 ) )ZCIS(_T>: _ﬁ_gz (3]

(b) O, 2 and 22 are represented by three points O, A and B respectively on an
Z Z

bn_ (5)-(3%) 7
Argand diagram. Determine the area of the triangle OAB. A — ?L = 3—23 : [2]

Question 3 [6 marks]



